Linear equations

1. What kind of slope is this?

positive
negative
zero
undefined

apop

Correct feedback: Yes, the answer is zero

Incorrect feedback: Sorry, the answer is zero. Please review the linear equations
PowerPoint.

2. What is the y-intercept in the equation y= x-6 ?
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Correct feedback: Yes, the answer is-6.

Incorrect feedback: Sorry, the answer is-6. Please review the slope-intercept and point-
slope PowerPoint.
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3. What is the slope of a line that contains the points with the coordinates (2,5) and
(2,6)?
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Correct feedback: Yes, the answer is 1

Incorrect feedback: Sorry, the answer is 1. Please review the slope intercept and point-
slope PowerPoint.

4. What is the y-intercepts for the following equation? 8x=5y
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Correct feedback: Yes, the answer is O

Incorrect feedback: Sorry, the answer is 0. Please review the slope intercept and point-
slope PowerPoint.

5. What is the point-slope form of the equation for a line with a slope of 5 passing
through (0,6)?

a. Tx—5y= 18
b. ¥=7 = hx
C. y—6=>5x
d »—7T=0x

Correct feedback: Yes, the answer is ¥ — § = bx

Incorrect feedback: Sorry, the answer is ¥ — & = 5x. Please review the slope intercept
and point-slope PowerPoint.

Equations Content Module, Reposted April 26, 2013 37



6. What kind of slope is this?

positive
negative
zero
undefined

apop

Correct feedback: That's right, the slope of this line is undefined

Incorrect feedback: Sorry, the slope of this line is undefined. Please review the linear
equations PowerPoint.

7. What is the point-slope form of a line with slope %:c that passes through the point

(-16, 5)?
=3fr_
a.y—5=_(xr—16)
b. y—5=(x+16)
C.}r—5=§[x-l-16j
=Y _
dy—-5=—>(x—16)

Correct feedback: The answer is ¥ = & = %[m + 16)

Incorrect feedback. The answer is 3 — & = =(x + 16). Please review the slope intercept

and point-slope PowerPoint.
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8. Below is a table of values. What is the rate of change?

x

3]0 -2 ] -1 0
y 8 6 4 2

apop
N =

N -

Correct feedback, Great! The answer is -2

Incorrect feedback: Sorry, the answer is -2. Please review the linear equations
PowerPoint.

9. What is the y-intercept for the following equation? ¥ =x —6&

a. -6
b. 6
c. *
&
d. 0.6

Correct feedback: That's correct, the answer is -6

Incorrect feedback. Sorry, the answer is -6. Please review the slope intercept and point-
slope PowerPoint.

10.What is the equation in slope-intercept form for a line that passes through points
(1,6) and (-1, -2)?

a. F=2Zx+ 4
b. ¥=—-3x+6
C. ¥=4x—2
d v=4x+2

Correct feedback: That's right, the answer is ¥ = 4x 4+ 2

Incorrect feedback: Sorry, the answer is ¥ = 4x + Z. Please review the slope intercept
and point-slope PowerPoint.
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